
RTX

EP

AV

CS

IN

EL

AV

TO

PS

BV

1-800-247-9653  •  225 Airport Circle, Corona, CAPrices Subject to Change Without Notice 49

Item 
No. Part No Description Qty. Req. Price912 UL 912 ULS 914 UL
1 893-862 CRANKCASE SET 1d 1d 1d $4,271.31
3 924-451 OIL TUBE 1 1 1 $15.28
4 929-951 DOWEL 10.8X25 5 5 5 $9.52
5 929-845 PIN D8X20 1 1 1 $7.73
6 840-191 STUD M8X105 1 1 1 $12.83
7 944-222 BLINDING SHIM 1a 1a 1a $13.78
8 430-061 O-RING 26.7X1.8 1a 1a 1a $5.57
9 850-902 O-RING 9X2 2 2 2 $10.00

10 944-131 WASHER 8 4d 4d 4d $1.26
11 840-061 ALLEN SCREW M8X80 1 1 1 $10.90
14 940-071 HEX.COLLAR SCREW M8X45-A/F10 2 2 2 $5.24
15 440-406 HEX.COLLAR SCREW M8X65-A/F10 1 1 1 $10.69
16 842-471 COLLAR CAP NUT M8 1 1 1 $21.34
17 827-962 WASHER 6.4 9 9 9 $0.31
17 945-751 LOCK WASHER A6 9 9 9 $0.21
18 840-887 ALLEN SCREW M6X30 9 9 9 $0.69
19 227-280 THRUST WASHER 1 1 1 $7.65
20 940-315 COUNTERSUNK SCREW M5X12 1 1 1 $0.57
21 941-487 ALLEN SCREW M10X110 1 1 1 $6.61
21 941-557 ALLEN SCREW M10X150 (1) (1) $10.31
23 927-411 WASHER 10.5 1 1 1 $0.63

Item 
No. Part No Description Qty. Req. Price912 UL 912 ULS 914 UL
24 933-870 PLAIN BEARING “C” 6bd 6bd 6bd $90.76
24 933-871 PLAIN BEARING “D” 6cd 6cd 6cd $88.98
25 933-335 RING HALF 2 2 2 $58.75
26 831-929 O-RING 5X2 1 1 1 $4.54
27 840-141 STUD M8X186 8 8 8 $9.73
28 840-171 STUD M8X200 8 8 8 $9.73
29 431-570 O-RING 10,82X1,78 8 8 8 $0.66
30 842-610 HEX. NUT M8 8 8 8 $4.37
31 842-471 COLLAR CAP NUT M8 8 8 8 $21.34
35 950-141 GASKET RING A 8X13 1 1 1 $1.30
36 240-072 ALLEN SCREW M8X20 1 1 1 $1.23
37 440-107 ALLEN SCREW M8X50 1d $1.99
39 926-400 WASHER 8.4/15/0.5 AR $3.17
39 926-401 WASHER 8.4/15/1 AR $3.37
39 926-402 WASHER 8.4/15/1.5 AR $3.61
40 881-121 SCREW SET CRANKCASE 1d 1d 1d $415.66
41 300091401 ENGINE BLOCK 1 1 $15,242.34

- Items not illustrated 
a Only for model 2 and 4
b Tolerance group “C” 1.820 -1.829 mm
c Tolerance group “D” 1.830 -1.839 mm
d See Overhaul Manual of the respective engine type, current issue.

CRANKCASE - FROM S/N: 14.0000

912 | 914 ENGINE

https://www.cps-parts.com/catalog/pnpages/800-247.php
https://www.cps-parts.com/catalog/pnpages/893-862.php
https://www.cps-parts.com/catalog/pnpages/924-451.php
https://www.cps-parts.com/catalog/pnpages/929-951.php
https://www.cps-parts.com/catalog/pnpages/929-845.php
https://www.cps-parts.com/catalog/pnpages/840-191.php
https://www.cps-parts.com/catalog/pnpages/944-222.php
https://www.cps-parts.com/catalog/pnpages/430-061.php
https://www.cps-parts.com/catalog/pnpages/850-902.php
https://www.cps-parts.com/catalog/pnpages/944-131.php
https://www.cps-parts.com/catalog/pnpages/840-061.php
https://www.cps-parts.com/catalog/pnpages/940-071.php
https://www.cps-parts.com/catalog/pnpages/440-406.php
https://www.cps-parts.com/catalog/pnpages/842-471.php
https://www.cps-parts.com/catalog/pnpages/827-962.php
https://www.cps-parts.com/catalog/pnpages/945-751.php
https://www.cps-parts.com/catalog/pnpages/840-887.php
https://www.cps-parts.com/catalog/pnpages/227-280.php
https://www.cps-parts.com/catalog/pnpages/940-315.php
https://www.cps-parts.com/catalog/pnpages/941-487.php
https://www.cps-parts.com/catalog/pnpages/941-557.php
https://www.cps-parts.com/catalog/pnpages/927-411.php
https://www.cps-parts.com/catalog/pnpages/933-870.php
https://www.cps-parts.com/catalog/pnpages/933-871.php
https://www.cps-parts.com/catalog/pnpages/933-335.php
https://www.cps-parts.com/catalog/pnpages/831-929.php
https://www.cps-parts.com/catalog/pnpages/840-141.php
https://www.cps-parts.com/catalog/pnpages/840-171.php
https://www.cps-parts.com/catalog/pnpages/431-570.php
https://www.cps-parts.com/catalog/pnpages/842-610.php
https://www.cps-parts.com/catalog/pnpages/842-471.php
https://www.cps-parts.com/catalog/pnpages/950-141.php
https://www.cps-parts.com/catalog/pnpages/240-072.php
https://www.cps-parts.com/catalog/pnpages/440-107.php
https://www.cps-parts.com/catalog/pnpages/926-400.php
https://www.cps-parts.com/catalog/pnpages/926-401.php
https://www.cps-parts.com/catalog/pnpages/926-402.php
https://www.cps-parts.com/catalog/pnpages/881-121.php
https://www.cps-parts.com/catalog/pnpages/893-862.php
https://www.cps-parts.com/catalog/pnpages/924-451.php
https://www.cps-parts.com/catalog/pnpages/840-191.php
https://www.cps-parts.com/catalog/pnpages/840-061.php
https://www.cps-parts.com/catalog/pnpages/840-141.php
https://www.cps-parts.com/catalog/pnpages/840-141.php
https://www.cps-parts.com/catalog/pnpages/840-141.php
https://www.cps-parts.com/catalog/pnpages/840-141.php
https://www.cps-parts.com/catalog/pnpages/840-171.php
https://www.cps-parts.com/catalog/pnpages/440-406.php
https://www.cps-parts.com/catalog/pnpages/440-406.php
https://www.cps-parts.com/catalog/pnpages/840-171.php
https://www.cps-parts.com/catalog/pnpages/929-951.php
https://www.cps-parts.com/catalog/pnpages/929-845.php
https://www.cps-parts.com/catalog/pnpages/940-315.php
https://www.cps-parts.com/catalog/pnpages/842-471.php
https://www.cps-parts.com/catalog/pnpages/842-610.php
https://www.cps-parts.com/catalog/pnpages/842-610.php
https://www.cps-parts.com/catalog/pnpages/842-471.php
https://www.cps-parts.com/catalog/pnpages/842-471.php
https://www.cps-parts.com/catalog/pnpages/944-131.php
https://www.cps-parts.com/catalog/pnpages/850-902.php
https://www.cps-parts.com/catalog/pnpages/440-107.php
https://www.cps-parts.com/catalog/pnpages/940-071.php
https://www.cps-parts.com/catalog/pnpages/840-887.php
https://www.cps-parts.com/catalog/pnpages/840-887.php
https://www.cps-parts.com/catalog/pnpages/940-315.php
https://www.cps-parts.com/catalog/pnpages/927-411.php
https://www.cps-parts.com/catalog/pnpages/827-962.php
https://www.cps-parts.com/catalog/pnpages/831-929.php
https://www.cps-parts.com/catalog/pnpages/227-280.php
https://www.cps-parts.com/catalog/pnpages/842-610.php
https://www.cps-parts.com/catalog/pnpages/842-471.php
https://www.cps-parts.com/catalog/pnpages/827-962.php
https://www.cps-parts.com/catalog/pnpages/926-400.php
https://www.cps-parts.com/catalog/pnpages/944-131.php
https://www.cps-parts.com/catalog/pnpages/881-121.php
https://www.cps-parts.com/catalog/pnpages/430-061.php
https://www.cps-parts.com/catalog/pnpages/430-061.php
https://www.cps-parts.com/catalog/pnpages/944-131.php
https://www.cps-parts.com/catalog/pnpages/431-570.php
https://www.cps-parts.com/catalog/pnpages/431-570.php
https://www.cps-parts.com/catalog/pnpages/431-570.php
https://www.cps-parts.com/catalog/pnpages/431-570.php
https://www.cps-parts.com/catalog/pnpages/933-870.php
https://www.cps-parts.com/catalog/pnpages/933-335.php

